m#0)

® 26

@ 0

@ -1

dD 3.14



15 3 3  3x(h 75

20 4 20D 22x5th :@:(”B

@ 0h2 @ W2 ® 5



sfoet,

A 7

—_—

7Re

K
pi-

olJ
™
A
o

13
20

>

7 3.141592, 0.3, n, 0.2145---

1

7H



S xA® atE YeRiY geasThE LA 9 3 M Are
A7

D 42 @ 45 3 47 @ 49 G 50



]

® 185

@ 27 ® 15 @ 58

@D 5



v

6. :

of 44 o2l 56 ) Aele] S7HE Ffedel,

—_

5 ER
=%



7. x=1222---d 0, 10x - x 9 gr&?

@D 1.1 ® 1.2 3 11 @ 12 3 12.22



8.

x=2.43737--

© 24372 Vpepic,
S=ghule] 7} 370l
gel4olct,

®

shal

rlr

agazolo)

iy

ol st e F

®
@ 1000x — 100x = 2413 ©|t},
©)

&7

ok
5




3.75 & 71FE4E Uehiolzt

Hat

<



10. ©he B7)0] 45 2 4RE Az de 2L

A

Exl

="'
@ 0.154 © 0.i54

® 0.154 ® 0.154

P®@-0-06-0 @09-0-06 -6
®e-6-0-0 ®O0-0-0-06
®Be - > 0 - 06



11.

0.5 ol ¥ 4= a & Tl5te] 1.02 7} ¥ Sich.

ol W a o] g7






13. s E79 4 F A BT &

@ a®xa®>xa® =a'?
© y2x 23 xy? = 5z
© a® xb?>xa®xb?=aSp*

@ xxx®xy?xy®xz®=xHT?

=
=%
e =

=%




14, x*xyx o xy® = 5% D W, a+ b o P2 Fotofet.

YER
=%






@ 2xx3xxt=2x8

2\% &
) (yx4) =yt



17. 343" 4 3* 2 7Hds] ey H?

@ 3x+1 @ 33x @ 27x @ 3x+2 @ 3x+3



18.

9a = 3*+2 o2l

D g* @

o, 277 9] Fh& a2 YERYH?

a° B g2 @ g3



19. 21x3 + (=7x) + 3x% = AAtstoet,



20. (4x%y)? + (-2xy)? + 4x3y? & 7HAS]

eks] @ AL
© = 2
= @ 2xy ® —2x?%
2
@ 2x2%y ® —2xy



21, (8x%2)2+ (—4x2y)3x[  |=syd [ |t Solz 4=
wgofal,



22, 163 +4" =872 o, n9] gt oot

>R
c



23. oA A oA —x -2y & TSI EY 4x +y 7t E QT o] o, i
A S Fotd?

D 2x+y @ 3x-y+1 ® 4x+y-3

@ 5x+ 3y ® 6x+ b5y



@ 3x+y @ 6x ® 6x-4y

@ 3x -4y ® 4y



25. o 4] A of 222 - 5x+ 7 2 wjof & Z1& HHolo]
7x% - 2x 43 ©] Hglrt. HEEA] ALkt g o) Aot

@D -11 ? -3 3 -1 @ 0



26. x(y+3x)—y(2x+1)-2(x>—xy—4) & Hd] oFA= o, x? o] A5}
xy o] Alg=9] 22

D 1 ® -1 3 2 @ -2 B 4



27. = F &2 A2

rlo

@® 6x3 + (-2x)2 = -12x°
@ —4x® +2x3 = 242

® 8a*h? = 2(ab)? = 24°
1 1 1
2 = Ty = = _
@ (x +x).2x 555

® (4x% —y?) = (=2y) = -8x%y + 23



28.

6a> + 2ab B ab + 4b?

3a 2b

(=g
=%



0

N

3]

S
770
(o R
©

0

N
S S
& 2B e
Q@ ©
N
2a arO
9,50071
@ ©



30. y=2x+1¥¢ M, x—y+4E x°f T Ao=2 YJehi?

D —x-2 @ —-x+1 ® —x+3

@ x=+1 3 2x+3



31.

H] 2| 4] (x+2y) : (2x—y+1):2;50E1 o, o] A& x of Tl ZH?
Ox=-13t2  @y="72 @42

9 12
—x -




= 100



0w, 2V o gro pjeler,
33. (2x+y):(x—2y)=3:1¢ uj, oy

S EER
5'7



